TRk 2 3EE

SRR Th REEBEEC SRS

REGEEHR—E
FH23%€12848 (H)

No. 1

SRR T R b B i5

X F 3000m

NE £z K 4 il 0 B JIE iz K 4 Sl iC %
1 | HOSONEFH =5 F 2f 57 02772 1 |9 # s & & = 2010 7 04 7 10
2 |db# EZEF = b 2 5 14 7 92 2 IRETHFEMEIIAS2)0 18 “ 178
SIZEK #¥F|F =B B 2[ 5 15 " 51 3 IMEAASZ|E B B 5 1[10 20 ” 53
4 HOHULAFH = F 1] 5 18 " 49 4 kH HEE KBS 110 31 7 45
5 MHF ImAm|L M B 1] 5 20 " 67 5 B8 XEBE KBS 110 33 7 44
6 [= & F & 1| 5 23”7 14 6 | & & ME(fL B s 2[10 33 7 90
1 |FEEMMAFT & F 1] 57 26 “ 01 ] | H M[E B B & 110 42 7 69
8 /8t M= = B 2| 5 28" 27 8 ILA F#|fm E /& 1[10 44 ” 33
9 |ZFTF MHE F B 1] 5 28 7 85 9 E4<XKBEMAB / K 5 210 48 ” 70
W|EAIFTSGEEF FF f 1] 5 28 " 94 10 [ B = &8 BB = & 2[10 50 “ 225
B F 3000m B F5000m
NE £z K 4 il 0 B JIE iz K % Sl iC %
1 [EA HEHEFEIFEXR4 9 18 7 22 1 &% #WXfhE T 53 14" 38 " 50
ER: =EF =B £ 3 9 20 ” 63 2 | TE —E|m&idEags?2 147 43 " 45
S |8En KE|E E X 4 9 217 9 3[Rt mMz2z/fhBE T 52 14° 4 " 10
4 | KH f#@ET)eE/P2 9 247 91 4 |FEHE shB|0E R M = 2] 147 51 7 05
5 12Xk BAIEERIIK2 9 37710 5 |55H #MFEE N & 1/ 147 53 7 46
6 (KW #Her#FH = & 3] 9 39 " 73 6 [P % Jelie B M & 2] 147 55 7 29
1T |=8 HtF = B 20 9 40 ” 46 7 B K E|fF E T & 2 147 55 " 81
8 [+ BXEFEE IS 9" 46 “ 00 8 |RH MAMREHZFKI 147 58 " 01
0 |BJIl EE|FT = 3 9’ 53 ” 58 9 b E BEAN|ME B B & 3| 147 59 " 40
10 [BTH K& 8 F 2] 9 53 ” 98 10 |F H Tt E T 52 157 047 77
B F 1500m
NE £z K 4 il 0 £
1 |ZE& FtmMENES2 47 12 7 20
2 BB FEA[RRELHRE| 4 12 7 25
3 [ Bk MEE N 5 1| 47 17 7 08
4 1B M| EERIKI] 4" 24 709
5 | IR IR EERII K3 4 25 7 84
6 |[IUAMBESNER|ME B8 & P 1] 4 32 " 49
7 [hiE ZERER#EDI 4 36 7 82
8 g bR #EpI 47 377 12
9 HBAR tHht|F F B 1| 47 49 " 33
10|&xk% EERFH = F 2 4 49 ” 66
K[RIKR
i ¥ MR e EQ
;s EREES R e pdES
9:40| BE [1s.0c| 7 [0.8m[50% BN E FHE BN ED
10:00[ BE [1m.oc|] = [1.2m] 53Y%
11:00( BF |16 5o BFE| 2. Om| 50% iC g B )il 5 E S
12:00] & |15 seo|mmdE| 1. 1m| 48%
13:00[ BE |16 sc| BaE|1. 3m| 50%
14:00] B |16 occ|mmm| 1. Om| 50% F fE fE Rk TH BE L G &
15:00 BE |[16.0c|@mmm|1. 5m| 45%
# B EBRTHBFZTESR




bR Th R BR B LR

REB—ER

No. 2 T2 3F128408 (B) IR TIE F RS
INES 4EEBF 800m INES AFELZF 800m
B K & il T 5 ] K % = S
LA EZBHBJIRCEY 2 30 7 M4 1 [H#E£ I #HIH £ 4 2 41 7 46
2 WERRKEZM + d8 3| 2 46 7 48 2 MM A BHE|ALEJIRCA 2 42 7 65
3 (& & B|H [1if) 4 2 47 7 80 3 | ER EZE¢ F 4 2 43 ” 61
4 EH KXiESE yd 4 2’ 48 " b5 4 |;F K = E[&H F 4 2 47 7 15
5 1My K X2 E 4 2 50 ” 93 5 (K% #%HBARFJIRCAE 2 47 7 51
6 |& /8 f2 M BR|ts 2 3 2’ 51 7 08 6 |INE #HM=[|dLEJIRC4E 2 51 7 39
7 B % #iES i 4 2’ b3 "7 32 1 [BEF & ZEW 5 4 2 53 7 18
8 |l BF ZE F # 4] 2 55 7 46 8 K EWE i 4 2’ 56 7 47
9 [ R X|& 3 3 2" 57 " 92 9 |[FBHM F B R 4 2 57 7 49
10 !y 5 H(HE ¥ 4 27 59 " 10 10 [ £ = FE|f ye 4 3] 2’ 57 7 178
INEDS. 6FEBF 800m INES 6FELZF 800m
B K % il T 5 B K % r=m S
1 [RN #Hm4¥E + @8 6 2 31 7 79 1 1%F080 =ZFEBHJIRCG6 2 31 7 23
2 |KXH #H B [R 6 2’ 36 ” 84 2 | MWMAEFIJLEJIRCS 27 31 7 89
3 | T it X|B i 6 2’ 40 ” 28 3 |mig WmK[dEEJRCSH 2 32 7 13
4 | B [ £|EERpELEZH=ES 2’ 40 ” 51 4 (AR FF|&LEJIJRCSE 2 33 7 04
5 [= K #H e 5 6 2’ 40 ” 86 5 & FEBAREJIRCE 2 33 7 54
6 |[/AH X8 (% 6] 2 41 " 26 6 [/MNAK KT Bl ¥ 6] 2 33 ” 96
7 (@ N EIE i bl 27 43 7 24 7 B ZEFEX £ 6 2’ 34 7 14
8 |MMHE EEGEe (% 6 2 49 " 76 8 [ KA HixE|d/EJIJRCSH 2 34 "7 91
9 | KM fin K|k [R 5B 2" 50 ” 91 9 |H ZEZF4dLEJRCSH 2 377 04
10|28 [EI}B yd 5B 2’ 53 7 33 10 [=#0 B 2|5 F 6 2 38 7 38
INEI AFEEF 1500m INEI AFELZF 1500m
B K & il T 5 B K % i =m S
1 & & AW [1if] 4 5 27 " 64 1 [/h# IE M F 4 5 57 7 30
2 (W8 W|IEIZXE=ER C4 5 30”7 16 2 1HAO NS yid 4 5 57 7 46
3 [F L Kih|xpEEH=4 57 31 7 43 3 |E#H SEME F+ d 4 6 15 7 85
4 |[ZFZFAR ¥HAEdEEJIRC4E 5’ 32 7 86 4 (ge 0 FRFBHAFJIRCI 6 25" T1
b [E%2 % E|Xt/EJRC3 5 35 7 80 5 | %A F+ # 4 6 35 ” 53
6 (AKX XH=E = 4 5 37 7 78 6 |ILIR LB E|L £ 3] 6 48 " 84
7 &0 EEF =i 4 5 43 " 21 1 IBE 1/ E|/\ 1% 3] 7' 05 ” 89
8 [lIuAx EBEE|AHEJIJRCE 5 43 7 76 8 |§H ZEF|L £ 3] 77 06 ” 81
9 |B T [E H|k [R 4 5’ 48 " 65 9 B EE|WH -2 4 7' 08 7 72
WWl/hE KMMEZTERC4H 5’ 48 7 90 10 |8 HS b LA £ 3] 77 09 7 45
INES 6BFEEF 1500m INES 6FELZF 1500m
B K & il T 5 B K % i =E S
1 | E KX#H|dE/EJIRCSE 4 28 7 64 1 B FEFEX £ 6 5 12 7 71
2 |K& FIAXKIBEREJIJRCOE 47 42 7 179 2 |&ZFE EE|XK F & 6/ 5 12 7 18
J |BEfE ZEHdEEJIRCOE 47 43 7 51 3 | AHEIRE|RRELEZHEG6 5 20 7 28
4 (K F0FE[K il 6] 4 44 " 54 4 |IE K B BRRELESE6 5 27 “ 59
5 Il £ E|A AT 6] 4 46 “ 85 5 IEA &KX F & 6/ 5° 27 7 60
6 |HFE Ktldbk’'EJRC6] 4 49 ” 72 6 |[Mm& & F|8 pisd 6 5 40 ” 30
7 |# g fE[dL;E U RC5 4 49 ” 93 1 i EA L WE =] 6 5 40 ” 35
8 [EZ# E|ldItLiEJRC6l 4’ 55 7 31 8 |= B & > |18 [Z 5 5 40 7 39
9 B8 ®EIF|ALEJIJRCH 4’ 57 7 24 9 |y K =] Pl 6 5" 42 7 74
10 |&% A BERIEEJIRCE 4° 58 ” 98 10 (&2 KX #z FE[8 [Z 6 5 43 7 38
h ¥ MEBE 5 0 EHE HE Bk N B il K{E




